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But here where it is impossible and he intends and it is prohibited

OVERVIEW

X217 proved his ruling that by 121 woR XY it is MOR (challenging the view of
»aXR), from the workers who were required to enter the ow7p w7 with certain
restrictions so that they should not derive benefit from the beauty of the p"n7p;
proving that qwok X7 (the repairs must be made) 131 (to derive benefit) is 70X.
Our m»don offers an [alternate] response on behalf of »ax.

Moo remarks:
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»28 could have established this 71wn of P71 that it follows the view of w''=, for

X271 »2X argue according to >''3 whether 119nP1 qWwoR XY is MOX or IMn; however they all
agree that according to w"1 the rule is 12" MWOR K? is MOK.

SUMMARY
»2X could have answered that the mwn of 19917 is according to w".2

THINKING IT OVER

1. According to Moo (proposed answer) it would seem that "1 (according to »2R)
would disagree with the mwn of P27 (since 1M1 WX K7 is IMn). However this
is not understood; how can > maintain that there were no 112 in the wpni na?!?

2. What advantage can there be in 19010 proposed answer over the actual answer?

! See the X3 on 2,75 which states, MORT *3°%5 &Y Xnby 210 731 902 YIRT NWAY T RIHRI P17 XPY TWOR K97 3090 %0
AT 97 R2OK 25D 0.

2 The reason the X3 did not give this answer may be because the X3 wanted to let us know the truth that even
according to (*"17 R2OK) »ax the rule is that 72°¥n Dwn 0n2 PR 1N I8N 2P and it was done through 1217 only
because of D°wIP2 WY THVA.

3 See n'"7x.
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